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SPlayanIse : 1. madidg oamndsenn sfluns wés’ uHand LT GTHLIMS
sfiunidgs  Qendrenapn.  widsls  Lhadled  Geomulipinder  Hepd
s EIeRILILTen L (b 2 L emguines QFMelldsain

Bevih ebevgy Sty enoufanen L GG ETLpGIVBHED Y IHCETGBISDEHLD
LisshT b Goussar(hin. Lit kel aueniaug D@ Gl eirdled LwsTLI(bdeajLh.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline and pcncll to draw diagrams.
@By : @eleSlenn s B LGS sawend Qe g
Note : This question paper contains four parts

ug® [/ PART1
(iBusarser : 14) / (Marks : 14)
GOl : (i) Hemendgi 14 e sasamde@is el welldsapb. 14 x 1=14
(i) Qe sainn (harenr  pickid oTpgy e gefids  Wsays Oungdsonen  ellenl g
Cababde @D Brer ellav_ulenemid Goidg eT(pHalLD.
Note : (i) Answer all the 14 questions

(i1) Choose the most suitable answer from the given four alternative andwrite the option code
with the corresponding answer. rd

1. QarGissiul Herer sa Hn wHDID STTTSSHETET FAWTAT afl@d_@w oL wirsrh
& T .
sahp: sHETOYL GurmerTgrTs Garsraasw werallpisdut Gurmstrgrr Gsfluin
sTan|b LS ST 2 % susllsn LrGlasriLcL gt
&TIenTiD; QwissT, &LéTULL  BIOSEHRESGT QUTGNTETY o ol GFiuw
aflprblebeorwsd) FwbsSarTsd @b Blena o s _rergi.
(:21) apmyt, STTERT FrerHEW F1f
(=) sy &1, eTTEY Groawid s hHpissrar slurar allsnésiodan
(@) oo pmy, SrTewND DAl GrawGCw Houm
(%) sryswmid & yeTrd S hmisGU QLT Ghsaldme.
For the given assertion and reason, identify the correct answer.

Assertion (A): A new wave of economic nationalism which expressed itself in Protectionisn
affected the world trade.

230



- - -

10th Social science

Reasu'n (R): This was because the USA was not willing to provide economic aid to the debtor

countries,

a) Both A and R are correct

b) A is right but R is not the correct explanation

c) Both A and R are wrong

d) R is right but it has no relevance 10 A

- 1914 e 1918 suemy DI 1939 wpasv 1945 aveny pami_GLHD Blrer® GumisEn

2 sl Guriset sTsiim GBIO_OUGuSHE STresiD.

(1) Gursdas poL Gubp ugdss LTbe fpssTE GEHT

(<o) usGuids Gurflc GLimi, Qurgwaser yACwirflen GmaL cranenflsams lew
DFBL0TS BOb5S!.

(@) 2Crrodw, =, onlfsss sawdisallds L eomersaflsy  @uTTser
BewL_bILhHmesT.

() Gemer Gjevardgiid

The two wars fought from 1914 to 1918 and 1939 to 1945 are referred to as World Wars

because of the

(a) extended areas of the conflict

(b) very high death toll of civilians and armed combatants

(c) fought on several fronts across Europe, Asia and Africa

(d) All these

() sismsd  GabOGlud soevepwullsr £Pp HEEGoWL UL G WTLERSETST
usni_sBenr(h BleneRrhg GlFaTneaT.

(i) sroauriGsrald Gurlid (tpsuauBssTss Qardwiuc L ddar Caguprédwmt
Bz HBusmaTenuwl GuDISHEG LHS FOSTSTTaHN SienenTy i hseri.

(fii) HeArHds gl L OOLLES Qarurew prwdast gmevsn Guimmy suflpL SHlerri.

(iv) srrereursien Guwl1799 Bl snGlueflli LML Sasr S HOBOBusd Crridld GlFsvsy
2 _G&rafl L mi.
(o) () whmo (i) eyswenen &ifl (<g8) (i) dmucd (iii) @y lwemen &
(@) (i), (iii) whguto (V) yAweneu #f () (i} wpmuo (V) g &lweswen &

(i) Under Colonel Campbell the English Army went along with Mahfuzkhan's army.

(i) After Muthu Vadugar’s death in Kalaiyarkovil battie, Marudhu brothers assisted
Velunachiyar in restoring the throne to her.

(iii) Gopala Nayak spearheaded the famous Dindigul League.

(iv) In May 1799 Cornwallis ordered the advance of company armies to Tirunelveli.
(a) (i) and (i1) are correct (b) (i1) and (iii) are correct
(c) (ii), (iii) and (iv) are correct (d) (i) and (iv) are correct

. wreTent el Feow oyplepsin GlFig FLLD sT&i?

(9) 1858 oy yesT(® st b (<) @i seysirdlsd s b, 1909

(@) @pglw syras sl i, 1919 (=) @pglu Syreé & b, 1935
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Which Act introduced Provincial Autonomy?

- \jl Act. 1909
(a) 1858 Act (b) Indian L.ounul‘AL:,. lACI .
(c) Government of India Act, 1919 (d) Government of India - Q;[bm@
. - : sul) | .
. DTE &@&wrﬂ&smm@ Sarey Qsdny 16815 & Fwmsp st

(%) weHur LswMursni Caiey syememmwin (<) Quimgi visosfl ‘%mmww-

(@) wridleois emflwiren i Cairey surflune (=) uiswflunrend Q,Q'H'Tawrsmmrwu:n ‘o

What was established by the Justice Party Government for the selection of (yovernmeny

officials? o

(@) Union Public Service Commission  (b) Public Service C omm1.551’0n

(¢) Provincial Staft Recruitment Board  (d) Staff Selection Commission

- PeTRESUILC Hsirer PO whmd sryemsdpaeres sflwrar QLW SEOLWTe)

Qg

SOOI 1 LUYPEISET FT susHSS e whonbd yhasr ulfiefs =FuBag CHTiL ssmag

SIDHDUIT G0,

STTGID. 2 useoralley @bfur o, sureplp  LHmn  Algew  Upsuens 2 Dugglulls
ol _gls o srerg.

(=) ooy wHOID ErraTio Fresr B 1, srysw S pMiGSTaT FHlwTeT allsnsawrsib.

(=4) sy WHDID STrewid GramEin &F, Srrerod FnDmpsaretr FHlwrerm aflersain BJ606V,

(3) ®poy &f, srrawnnd SHoumy.

() sahmy Soumy, srrewrn &,

For the given assertion and reason, identify the correct answer.

Assertion (A): Horticulture involves cultivation of fruits, vegetables and flowers.
Reason (R): India ranks fi

rst in the world in the production of mango, banana and citrus
fruits.

(a) Both A and R are true and R explains A

(b) Both A and R are true and R does not explain A
(c) A is correct and R is false
(d) A is false and R is true

AL L psiTenD Se(pi iy

(o) evwdsr (@) seremrioyssd (@) e () Qerioy

Find the odd one

(a) Mica (b) Lime stone (¢) Gypsum (d) Copper
- sTafBleb Glevsupiguirs UGS S emaiE LG Li(RHD Gurré;@suﬂ-é,@

(51} srenevts Burs@arss () Braded Burs geurgg

(@) sursiranfi's Gurs@oursg %) B euyflry Cgun'&.@swr;j,@

The transport useful in the inaccessible area is

(a) Road ways (b) Rail ways (€) Air ways (d) Water ways
. SUNpBTC 1960 HyFE urtiuaralls STHssmens O\ e, e

() oy (24) Gougor @) Fein@ine (%) w@Byrp



Fhe districts which has the largest forest cover in Tamil Nadu is

(a) Dharmapuri (b) Vellore (¢) Dindugul (d) Erode
10. "Sgpeirasit s Luiral'shr Dphaengndlund” srairgy SjenpdsiiGio e ¥

(o) atal'P @ @ () warmA G L n

(X)) 3xra7ad @ iy o (#) & magemr G LT

The deita which is known as “Granary of South India” is

L) Cauvery defta (b) Mahanadi delta

(<) Godavan delta {d) Krishna delta

M. appfwacentingé o000 dfey 14 anpusag
(o) ot 3£ s gpemarsuad s (-98) 111 HLDpapINDHH BoDL ClriigpsD

(X)) s wrin‘ sl igd () t1r' s senen Fdhmmed
Article 14 of Indian Constitution cnsurcs
(a) Equality hefore law {b) Prohibilion of discrimination

(¢) Equality of opportunity {d) abolition of titles
12. 2.0 Quaema asrgy '

(-5) S @ ad ugaldksTn GaraEnt. g

{.%) 6 g arBadr ugal saTRE DRTRWL G

(&) F15p3 gemar 50

(#) 4 e Dadn upaidaTD Gl i g

The chgiﬁlaﬁve Council

(a) has a term of 5 years (b) has a term of 6 years
(¢) is a permanent house (d) has a term of 4 years

13. GDP uié: @ps aionD Qpet o8 sty Gauemeoairitiy sshuGapg?
() Bassmrsdm gD (-5) QP guewm .
(B) venf s oo (=) Qupaam_ sigiapfdeoa
Which sector is highest employment ig then GDP
(a) agricultural sector (b) industrial sectog
(¢) service sector ‘ (dynone

14 Swrwwrar wihse 0 Sy Quir@:'_&@m @tﬁbup:rp P my 67317

(o) ard {.94) Cn13an

(Z) 3pem (=) smsalenard Qun 5 meir
which of the following docs not come under fair trade food I['n'cadullcts".’

(a) coffiec (b) cocoa (c) honey < (dycrats

LA 11/ PART 1
(G @ e weir © 20) / (Marks : 20)
A0URy () eramar Wit 10 aiewt dasmyi. g tni (b afa wellhsaph, 10 x 2=20
(h) gy Bawrlihe 4t TS B wellds Fantuly .
e (1) Answer any H) guestions
{3t) Questun No 28 s compulsory.
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pewerli L g wsS B,
.. . . . . : '“—g'suﬂlbl'5m
15. LsTaTTL B shnsBler Cordalsarar gGsad Gravd &

List out any two causes for the failure of League of Nations.
16. G Lyelr o LsiTLydhemaullsh srpgbser wrensy’? ‘
What were the provisions incorporated in the Lateran Treaty? _ R—
17. fpdg whpibd SwHAs HemwudQubn Ly e W RIS EDaTd et PIHS!
Identify the Palayams based on the division of cast and west.
18. HmEmsvBeusl sTagdd LM s EHPOY ardTs.
Write a note on the Tirunelveli uprising.
19. srsvpenL_asir stehrmmed sTevien?
What do you mean by livestock?
Frepel Qurs@Gairsdler sres opbFiisamen GMOLES.
State the merits of roadways.
SOPBTL g 6ir tpshslu Saysenens @Bl G
Name the magjor islands of Tamil Nadu.
SUOPBTI_1g 61 @pddl uVBHrdGH S Rsahsr GLuTsemen (SIS
Name the important Multi-purpose project of Tamil Nadu.
23. @ruyflenw ersugsr QuUrmsr sraTar?
What is meant by Citizenship?

20.
21.

22.

24. o wir FHlwsrpsLletr sarsBs o Muw Fdanrwenn HyAerrissr wireneu?

What is the original jurisdiction of the High Court?

25. @pgurallsr amis Cariurl yer Grand amsgibsesr sTupss?

What are the two themes of India’s nuclear doctrine?
@pur Qurmsnrsrriens GubL@BSS 2 Sab STrenlssT wTensy?
What are the factors supporting to develop the Indian economy?
27. SIPCOT uppl gy srapgis.
Write a note on SIPCOT.

26.

28. @mSuwrailear oy s uHmid Fiss Crenssmensr Urasnag SN G,
Write the latitudinal and longitudinal extend of India.

U@ 11/ PART I
(wFU@usswrasir 1 50) / (Marks 50)
Goiy: () ereveuGuigiih 10 eflewdaarne:s, Lon (5o mﬁ?ea):_marﬂé;&m_b_ 10 x 5=50
(if)  426ugy eflewrmalig L1 mutons efeoL uerlsg Qavein(io,
Note: (i) Answerany 10 questions
(ii) Question No. 42 is compulsory.
29. Qurmpsgis:

(i) yevrsv sir Bawsvuns T Ceaidlnde s paeys F0Qlay e

(i) Goesrer sLILL S _HID Fomb - Qumrgefud S
(i) Gamrypweint_své &L HasHr - LDV UPE euf)

(iv) @oirgSlwr GlFer - 1975

(V) g & Temen - WplenL
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29,

30.

31.

32.

33.

34.

35.

36.

37.

38.

39,

40.

Match the Following:

(1) Thermal power plant - eastern coastal plain
(if) Mazagaon Dock - economist

(i11) Coromandel Coast - indirect tax

(iv) Amartya Sen - 1975

(v) Excise duty - Mumbai

(&) Caupru@sgis:
(i) @lowiensy gy mussr whHmid SusHL S MISET
(i} &0 WariMig iy hmd e_srprt @ Weirdllig iy
(@) SryemId Fums wenett UG sublaaflsame afie GeaflyraTeal.
(a) Distinguish between
(i) Himalayan rivers and peninsular rivers
{(ii) Marine fishing and Inland fishing
(b) Give reason: Mountains are cooler than pI‘hinsf

Peairena G GUTSIO..DWO BILTEHS T GF it Sl6hT LIS .
Estimate the role of Mao Tse Tung in making China as Co ,ur:_;{s;tcountryi

1857 gytp gyem(® deridfuleir Ggmsvalldsmer asrru‘smrﬁj&g)m IS,

Analyse the reason for the failure of the Revolt of 1857.

all Gt Guryt L 5Zb surdy sbdly Gurev gbpilu Lbidmer mﬂm&é&s

Rote played by Subhas Chandra Bose in freedom struggle.

@AW sroplmasow Bierulls g sryenfisefls aGzsguh @ﬁﬁhqﬂ)ﬁﬂri}ﬂﬁﬂ&@&.
What are the factors affecting the climate of India and explain any two it detail.
HETWOWIDTESID STETDTE) STHTEN? Y HrESBIGMET N6 & (355,

What is Urbanization? Explain its impacts.

‘sralifl Sy m PSS CIBTEHDH TRSIS.

Write an account on river Cauvery.

o_é5 EAwsipsdler pas@s o flw FF aiwruap Sglsrrmsst whpib Gusd wopuf @
B UHTWDHD SIS TTEISHSIT umm eTpGIs.

Write about Original Jurisdiction and Appellate Jurisdiction of a Supreme Court .

Afsew (BRICS) gal tenwiiy 2 Gourarsharar STTanrd wHDID HGET GBHrEsmHamen

TSI,
Trace the reason for the formation of BRICS and write its objectives.

GmDESULS e el allardss.

Explain Minimum Support Price.

@aTflowioTsSsEG SUPETH TS ThpECsTamL. Qetarenssalldr sumasdr LD
aRfleur s 6TUpSHIS.

Write in detail about the types of policies adopted by the Tamil Nadu government to

industrialisation.
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OOy @ urdensu wihaubdmerrefl wraweuisd HTLESHTH oD mmﬂ’l-“—fjﬁ: f‘:’@;w
Bapeysmanyd GLbsamearyd GBIl Hé srBausDd LFTE MDD LDl
&BILyssT WG sTaps Ceuasr (i, i related to Time

Note : Visually Challenged Candidates have to write only notes for the questions

Linc Chart and Map
41, .ﬁ@&we&wuwmﬁ)ﬂ@@ &revEBar® suemrs 1900 yasv 1920 susnyulleomer g3h3! yaeu
Blspasamear sTasCsT g6 1ugss.
Draw a time line for the following:
Write any five important events between 1900 -1920.

2 W& UMTULSHAL £psargmid GriTnem
(i) Qaidilwr

42.

(i} usild G mris

(i) sglromesr

(v} apsumih £ey

(V) sromsTd

Mark the following places on the World map,
(1) Serbia

(11) Pacific Ocean

(ii1) Japan

(iv) Hawai Island

(v) Nagasahi

_ JWARTIW
. (m,@ﬂf@&a‘ﬂ&ér : 16ListMarks - 15)
@By () B eieitrdsema@h el wefldgayld.
Note ; (i) Answer both guestions . 2 x 8=16
43. Faps warSarHpsgla Quflwrt . Glev.om aflsir umisefliiysaner o

WEEINTS: STDEIS?
Write brietly about the contributions of Periyar E.V.R to the social upliftment
(rsbsvg) (OR)

(i) gyredds il sofleir srpsdl GPSH B S Genr SUEDT Wy L.
(i) 1990 prHOTETIgD Fryslmebs Blussnissr BenL_QL ;
‘ of A -
hipplenamansm allsurdssayb, DUBDES Q’—@":@W!ﬁ
(i) Attempt an essay on the rise of Adolf Hitler. |

(i1) Discuss the circumstances that led to that happen the reform 1

. Novements i 19" .
GPloy:  uria  wrhnisSpsrred  wreRTeT &sir UDTULSED B dres 197 century .
. . . A & WAL
HT_(HeughHE LTS Hsumnens s umplw SO ser BB . .GIT ' SO NIACE
Note : Visually Challenged Candidates have to write only notes for the qi 6:1“‘7 @b, y
e . ] Cstons relat a
44. GlaTRss0uHisTar @)hdlu euenTLLgh lﬂmm@ﬂ“‘“mbmm o0 ated to Map
I
(i) BuhE erLrfwsna Yo
(i) pu1) oy
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(i) Gluressramrr o _uhisGarerd Gt L_sib
(iv) semrsp aflsnsruyd 9@ LGS
(V) Qarad -
(vi) omie@ag gy
(vil) er@eu@rs. Hesprin
(vil) Qg sirsmras ruflv@eauuilsir semsusmipull_to
Mark the following places on the given outline map of India.
(1) Western Ghats
(i1) River Tapti
(1ii) Panna bio-sphere reserve
(iv) an area of Jute cultivastn
{v) Cochin
(vi) Jamshedpur
(vii) Mt. Everest
(viii) Head quarters of Southern railway
(sysvswg) (OR)

QaTBSSUULBlaTer SUYE suamTuL SHd LNsaumastahaln Golésad

(i) «frrern eyl

(i) s aflensruyo UGS

(iii) uonresflerast openan

(iv) Gsflu: QpEErsransy 7

(V) Gssirenesr p@s» SmFHriivsiefl ousnr rullilLsmsns

(Vi) @Bgwits GlumisL6

(Vi) snt_mugemd

(Viil) sreditoir gpemssr

Mark the following places on the given outline:map of Tamil Nadu.
(1) Viranam lake L
(it) Coffee growing area 3 L

(iii) Bavanisagar dam

(iv) NH 7

(v) Rail route from Chennai to Tiruchirappalli

(vi) Indian Ocean

(vii) Kudanklam

(viii) Point Calimere



